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3+ 3 =31 > ud + 7Y = gAd

3+ 3T = 37 > RHA + 37 = GATEH

I+ 3T =3 [EAF + AT = [EaHad

3T+ 37 = 3T > fagEr + rdt = R

3T + 3T = 3m > R + 37 = Ry

fagsw 2. 3 3 § Y O
s+3=%>W+3x =g, g+ 55 = qlig

s+ §=%> @R+ fu = Orfter; g + $or = aeiner
§+35 =% A8 + 35 = Al ; A + g = ARG
§+§=9%>aq + §x = adier ; A + U = ALy .
fagsr 3. 3 3t = & @fr

3+3=3F > N9 + 38T = Weq ; @AY + 359 = RAygw
3+ 3F =3 D> dY+ FH = agi; Ry + 367 = RAyfA
F+3=3F DY + 3Wd = YT ; IY + 3odd = TYcAW
F+F =F D+ FT = JEd ; Y + Foll = S
fasr 4. % 3w & dfF

%+ % =% > Ng + 7oA = oA
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